WMSS Chapter 4 Support File Answers

Practice 4-1

1. 1,2,3,4,6,12 2. 1,3,5,9,15,45 3. 1,41
4. 1,2,3,6,9,18,27,54 5. 1,2,3,4,6,8,12,16,
24,48 6. 1,2,4,5,10,20,25,50,100 7. 1,3,9,
13,39,117 8.5 9.2,39 10.2,5,10 11. 3
12. 3,5 13. 2,3,5,9,10 14. none 15. 3,5,9
16. 1 17.3 18.8 19. 0,3,6,9 20. 0,5
21. 0,2,4, 6,8

Practice 4-2

1. 625 2. —125 3.
6. 729 7. 225 8. -3 9.8 10. 3%

M. K 12, (-9°%® 13. g*n 14, 7a%b3
15. —16m3n? 16. (—3)%d%> 17. —8; -8

18. 0 19. 256;256 20. 7 21. 12

22. —18 23. —150 24. 40 25. 28 26. 9
27. 4 28. -9

—-196 4. —64 5.1

Practice 4-3

1.4 2.18 3.9 4.23 5.1 6.7 7.6
8. 25xy 9.3 10. 16 11. 12k? 12. 2mn

13. composite; 3 + 52 14. composite; 23 - 19

15. composite; 2* - 33 16. composite; 22 - 3 - 72
17. composite;2° + 5 18. composite; 2% - 33

19. prime 20. composite; 11 - 13

21. composite; 3% - 59 22. composite; 3% « 41
23. prime 24. prime 25. 15,35,21,105

26. B

Practice 4-4

~

2 1 3 4 2 7 4 x
§ 2. i 3. Z 4. g 5. § 6. 6 7. i 8. 5
3x 6n 1 5h n 1
9. ? 10. 7 1 m 12. ﬁ 13. pm4 14.
3h 5s 2 3 46 6 9
15. Ak 16. 41‘2 17. 812 18. %9 19. 10° 15
12 12 6m 9m 1 _prq
20. &1 21.3.% 22. g 0u, 23 2067 2%
6522 35313 3 1
24. N4 T 23-5 26 45

1.
302

3

Practice 4-5

1. 12; P1-C3, P2-C3; P3-C1, P4-C1; P3-C2, P4-C2;
P3-C3,P4-C3 2.12 3.8 4.16 b5a. 15
b. 30

Practice 4-6

1-4. 1 3
-0.5 71 0.3 4
} —eo—o— tO———

-1.0 -05 0 05 1.0
5.4 6.2 7.5 81 9. -5 105 11.-14
Sample answers. 11. };,%,%2 12. %,%,%

4 -4 24 3 3 -6 34
13. g, _75,7730 14. g, TS,T 15. _17, _TO
16. 3,25 17.4 8% 18. 20

Practice 4-7

1.4 2.9 3.10 4.3 5.3 6.8 7.z5

8. —m!2 9. -3° 10. x7 11.)° 12. -y’
13. 6y° 14. 6x° 15. m*2 16. x6)?

17. 54x19 18. K16 19, 3p° 20. 4273 21. =
22. < 23.> 24. = 25.< 26. = 27. =
28. > 29. <

Practice 4-8

1.9 2.4 3. -5 4.2 5 -4 6.4 7.%
a

8
8.1 o1 104 113 12,25 13.%

>~

14. L

3
15. % 16.1 17. 3n%k 18. %
n b
19. a3 20. 2x7 1y 21. x7%2% 22. m™In 4

23. 2573 24. 3¢2f2 25. Answers may vary.
142 474

4747 4

Practice 4-9

1. 37,700 2. 8,500 3. 0.00009002 4. 0.00191
5. 3.653 X 10° 6. 6.336 X 10* 7. 4.6 x 10’

8. 7725 x 107 9. 526 x 10° 10. 8 x 10°

11. 81 x 10° 12. 73 x 1077 13. 9.03 x 1074
14. 6 X 107 15. 6 X 1014 16. 7.2 x 1077

17. 85 X 1072 18. 23 X 10°,6.9 x 109,

72 X 10° 19. 1.89 X 1074,2.5 x 10~4,

19 X 1073 20. 3.125 X 1073

21. 3.1536 x 10°

Reteaching 4-1

1. 17 2.10,25 3.2,4 4.2,412 5.1,511,55
6. 1,2,4,5,8,10,20,40 7. 1,2,3,6,7,14,21,42
8. 1,2,3,4,6,8,12,16,24,48
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Chapter 4 Support File Answers (continued)

Reteaching 4-2
1. 10,100 2. 10, =100 3. —10,100 4. —10,
—100 5.5,25,-75 6.3,9,18,14 7. 4,8,4,
16,80 8. 7,2,7,4,28

Reteaching 4-3

1.2-55-7,5 2.3-522:3-53-5=15
3.24.3,22.3.522.3=12 4. 3%.523.32
32=9 52-722-3-7,2-7=14 6.23.3,
24.523=8 7.32.5.7,23.32.5,

32.5=145 8.22-3-13,24-13,22-13 =52

1 1 1 1 1 11
6.2 2 X X" ¥ox 9 Z:3-3-f-5-5-4-1095
2T xcy -y Ty 2-2:2-8-4-4 >4

1 1 1 11 1

21{ 11 1%1

2-B-pd T W-g-fi-h-h .,

8 8-p-p-g°D 9 £ H ’11h

11 1 1

1 1 1 1
10 Z-wnr-nt-m 1
2222 -mr-mr-m-nm-n8mn
1 1 1 1

Reteaching 4-5

1. steak, fries, beans; steak, fries, peas; chicken,
mashed, beans; chicken, mashed, peas; chicken,
fries, beans; chicken, fries, peas; hamburger,
mashed, beans; hamburger, mashed, peas;
hamburger, fries, beans; hamburger, fries, peas;
12 meals 2. 6

Reteaching 4-6
1.2 2.2 3.1 a
8. -5 9.% 10.1 1.
14. -5 15. =

-

5 2 1
5

Reteaching 4-7

1. (4-4-4-4-4-4-4)4-4) =4
2. (ara-a)a-a-a-a-a-a)=d
3. B x x)(4-x-x-x-x-x)=12x"
4, (3-3-3-3)-(3-3-3) =37

5. (yry y y -y (ry-y=)>*
6. (7-r-r-r-r)y-Q3-r-r)=21r°
7.5 .53.5 .5 =512

8. M- -h2-hn-n2-nr=npo

9 mt - mt-m* - mtomt -t mt o mt = m3?
10. x3y2 . x3y2 . x3y2 — X9y6

1. 25% - 25%5 « 25%5 - 2545 = 16516420

33,6

12. —pgr? - (—pqr?) - (—pqr?) = —p¢’r

Reteaching 4-8

Reteaching 4-9

1. 745 X 108 2. 34 x 1074 3. 8.882 x 108
4.57 x 103 5.592 x 1010 6. 6 x 1079
7. 1.0296 x 1010 8. 3.45 x 102

Enrichment 4-1

1. yes 2.yes 3.no 4. yes 5.yes 6. no
7. yes 8.yes 9. no 10. yes 11. yes

12. no 13. yes 14. no 15. yes 16. yes
17. can’t tell 18. can’t tell

Enrichment 4-2

1. 5,25,125,2 2. 6,36,216,6 3. 4,16, 64,256,
4,6 4. 9:81:729:6,561:1:9 5. 2,4,8,16,32, 64,
128,256,6,8 6. 1:121:12,321;1,234,321;
123,454321:12,345,654321 7a. 9 7b. 7 7c. 3
7d. 1

Enrichment 4-3

1. 1,23 2. 1,2,3,4,6,8,12,24 3.2 4.8
5.22.11;6;1,2,4,11,22,44 6. 7 - 13;4;1,7,13,
91 7.5%4;1,5,25,125 8.2-3%8:1,2,3,6,9,
18,27,54 9. 23 -83:8:1,2,4,8, 83,166,332, 664
10. 32 - 41:6:1,3,9, 41, 123,369

1. 52-19:6:1,5,19,25,95,475 12. 2 -3 - 37,
8:1,2,3,6,37,74,111,222

Enrichment 4-4

1. 1;1;11;11 2. 3;3;21;21;15;15 3. 10;10; 6;
6:4:4 4. 4;4;12;12;9;9 5. 5;5;36;36;1;1

6. 8;8;32;32;11;11 KODIAK
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Chapter 4 Support File Answers (continued)

Enrichment 4-5

1.1 1b.2 1c. 1 2a.1 2b.3 2c. 3

2d. 1 3a. 2;3 3b. The number of outcomes
when a coin is tossed n times is 2. 4. 16

5. Each entry is the sum of the two entries above.
6. They are the same. 7. 6

Enrichment 4-6

1. 3,3 2. 6,6 3.
vary. 6,1,5,5 5. Answers may vary. 12,2, 10, 10
2 _ —n 7. Fora=24,7 and 10,

m- —n
answers are 7,9, 12, and 15, respectively. The last 3

=7,—7 4. Answers may

" m+n

answers will vary. Each must be 3 more than the

corresponding value chosen for a.
8. a2 — 2a — 15 _

-3 > =a+5 9. Youcannot evaluate

the fraction because the denominator equals zero.

The fraction is undefined.

Enrichment 4-7

1. 99) 2a. 220 2p. 1,000,000 3. C 4.7
5. D 6. 7a.2l7b. 22 7¢. 250 8.

Enrichment 4-8

1. 42,41;44,40,36;39,38,43;120 2. —17, —12,
—13; —10, —14, —18; —15, —11; —42 3. —8, -3,
—4;-1,-9;-6,-7,-2;-15 4. 64 5. 1,84
2,51 ,2,168 6. .2, 1,81, 504 7. 4,42
16,1,1 4,81

Enrichment 4-9

1. 2 X 10*mi/h 2. 2.4 X 10° mi
3a. 24 x 10*h  3b. 4.8 X 108 mi
3c. 1,000 days 4. 2.5 X 1013 mi
5. 6.25 X 1017 mi

Checkpoint 1

1. 3only 2. 2and3 3. 2,3,5,9,and 10 4. 49
5. -1 6. -75 7. % 8.% 9.% 10. Answers
may vary. Samples are given. 6x2 and 9x3; 9x2

and 3x°

Checkpoint 2

1. Answers may vary. =3, %, 7;148

8 4 —4 1 1
_710,5,?5 3. _§ 4- _1 5- §

2. Answers
may vary.

6-8. _ 3 4
-0.7 10 5
L 4

-1.0 0 1.0

3
9.5 10.42 11.%5 12.3
X

Chapter 4 Test Form A

1.C 2.J 3.B 4 F 5D 6.F 7.B
8.H 9.D 10.J 11. B 12. 1,2,5,10,11,
22,55,110 13. composite; 3%+ 7 14. prime
15. 1 16.2xy? 17. 3 18, 72

:;

19-21. 2 3
-0.7 "5 10
—o+———F—1++——+—1+—
-1.0 0 1.0
22. —% 23. 54 X 10° 24. 24 25. Answers
may Vary.zé = 22_5 =273,
1
*Z_,L I
Also, % 5 2 Z A5 = 3. S0,273 = 213 since
22

£s cannot have two different values.

Chapter 4 Test Form B

1. A 2.G 3.C 4G 5D 6.J] 7. A
8 H 99D 10. G 11. C 12. 1,2,5,7,10,

14,35,70 13. prime 14. composite; 32 « 11

15.2 16. 3x® 17. ] 18 =2
19-21. _3 7
5 —0.2 10
————@—+—"1—1+—+@+—
-1.0 0 1.0
22. -} 23.84x10% 24. 12

25. (—b)2 = (—=b)(—b) = b® since the product of
two negative numbers is positive.

Alternative Assessment

1. Answers may vary. % =1 and
1
;f =71"1= 7O = 71 cannot have

two different values, therefore 70 =
2. (-3)2=(-3)(-3) =9 and
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Chapter 4 Support File Answers (continued)

—32 = —(3-3) = —9; (-3)2is (—3) squared
whereas —32 is the opposite of 32. 3. Add the
exponents; xZ - x4« x = x2T4T1 = x7

4, 52-13 5. % = 4:1710 Substitute.

/325\ =i Simplify.
1

5 65 = %7% Factor.
1

F|> 5/\13 = % Remove

common factors.
6. Start with the greatest number of quarters, 2.
Then find all the ways with 1 quarter and 2 dimes,
then with 1 quarter and 1 dime, and so on. There
are 13 ways.

Quarters|2 11|11 1(1)1|1(1)1(1
Dimes [0]2]2]1]|1 110(0(0(0f0f0O
Nickels {01032 015(4|3]2|1]0
Pennies [0|0|5]|0|5(10{15]| 05 |10|15|20|25

Cumulative Review

1.B 2.J 3.A 4 F 5C 6.J 7.B
8. H 99B 10.J 11.C 12.F 13.D
14.J)J 15.B 16. G 17. 6(x + 3);48

18. 35 = —0.25,n = —0.8 19. 1,2,4,7,8,14,28,
56 20. poached egg with orange juice and toast,
poached egg with tomato juice and toast,
scrambled egg with orange juice and toast,
scrambled egg with tomato juice and toast, fried
egg with orange juice and toast, fried egg with
tomato juice and toast; There are 6 combinations.
List them in an organized way.
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